

Aug 15

under.

it's

(i)

AE

$\neq |\phi\rangle$

+

$\Rightarrow u \in \mathbb{R}$.

$A|u\rangle = 0$

$\Rightarrow 0$.

$$\Rightarrow \langle \psi | A | \phi \rangle = 0 \quad A = 0!$$

|| by, in order to prove (i) \Rightarrow (ii)

$$\text{consider } |\omega\rangle = |\phi\rangle - |\psi\rangle$$

$$\text{then } (\langle \phi | - \langle \psi |) A (|\phi\rangle - |\psi\rangle) = \langle \omega | A | \omega \rangle = 0$$

$$\Rightarrow \langle \phi | A | \phi \rangle - \langle \phi | A | \psi \rangle - \langle \psi | A | \phi \rangle + \langle \psi | A | \psi \rangle = 0$$

$$\Rightarrow \langle \phi | A | \psi \rangle = \langle \psi | A | \phi \rangle \quad A = 0!$$

Also,

$$\langle u | A | u \rangle - \langle \omega | A | \omega \rangle = 2 \langle \phi | A | \psi \rangle + 2 \langle \psi | A | \phi \rangle$$

consider,

$$|\nu\rangle = |\phi\rangle + i|\psi\rangle \quad \text{then } \langle \nu | A | \nu \rangle = 0.$$

$$\begin{aligned} (\langle \phi | + i \langle \psi |) A (|\phi\rangle + i|\psi\rangle) &= \langle \phi | A | \phi \rangle + \langle \psi | A | \psi \rangle \\ &+ i \langle \phi | A | \psi \rangle - i \langle \psi | A | \phi \rangle \end{aligned}$$

$$= +i (\langle \phi | A | \psi \rangle - \langle \psi | A | \phi \rangle)$$

$$\text{then } i \langle \nu | A | \nu \rangle = - (\langle \phi | A | \psi \rangle - \langle \psi | A | \phi \rangle).$$

finally take $|\alpha\rangle = |\phi\rangle - i|\psi\rangle$, then

$$\langle \alpha | A | \alpha \rangle = 0$$

$$\begin{aligned} (\langle \phi | - i \langle \psi |) A (|\phi\rangle - i|\psi\rangle) &= \langle \phi | A | \phi \rangle + \langle \psi | A | \psi \rangle \\ &+ i \langle \psi | A | \phi \rangle - i \langle \phi | A | \psi \rangle \end{aligned}$$

$$\Rightarrow i \langle \alpha | A | \alpha \rangle = \langle \phi | A | \psi \rangle - \langle \psi | A | \phi \rangle$$

$$\Rightarrow i \langle \nu | A | \nu \rangle - i \langle \alpha | A | \alpha \rangle = -2 \langle \phi | A | \psi \rangle + 2 \langle \psi | A | \phi \rangle$$

so,

$$\begin{aligned} \langle u | A | u \rangle - \langle \omega | A | \omega \rangle + i \langle \nu | A | \nu \rangle - i \langle \alpha | A | \alpha \rangle \\ = 4 \langle \psi | A | \phi \rangle = 0 \end{aligned}$$

$$\Rightarrow \langle \psi | A | \phi \rangle = 0!$$